Nextflow: difference between the original syntax and DSL2
nextflow.enable.dsl 2

input_ch:=-Channel.fromPath( "*.txt" ") input_ch-=-Channel.fromPath(-"*.txt" )

workflow: {

* All "from" and "into" are removed | input_ch | pl
e Channel - process relationships are now pl.out.output_ch2 | p2

specified through workflow p2.out | p3
e The output channel is referred to as p.out \

process pl-{ process - pl-{
file(x) input_ch file(x)

file("head.txt") output_chl file("head.txt") T
file("tail.txt") output_ch2 file("tail.txt"), -emit: output_ch2

head  $x > head. txt head  $x > head. txt
tail $x->-tail.txt tail $x-> -tail.txt

process -p2-{ process -p2-{
file(y) output_ch2 file(y)

val(true) is_finished val(true)

gzip-$y gzip- $y




Practical steps: DSL2

nextflow.enable.dsl 2

lnput_ch Channel.frompath( . Txt" ) lnput_Ch Channel.frompath( k. TXxt" )

workflow: {
input_ch- | pl
pl.out.output_ch2 | p2
p2.out- | p3

Step 2:
process - pl-{ « Make sure each process only process - pl-{
takes 1 input channel.

. * Remove all "from" and "into". -

: innu+ . * When there are multiple output file(x)
file(x) ='PE*="" channels, name them as needed

) with "emit". .

file("head.txt") ytout ch file("head.txt")

file("tail.txt") utnut ch file("tail.txt"), emit: output_ch2

head  $x > head. txt head  $x > head. txt
tail - $x->-tail.txt tail - $x->-tail.txt

process p2-{ process p2-{

fite(y) utpu file(y)

val(true) val(true)

gzip- $y gzip- $y




